KEFEBILECESHEESREE

SH6E12A31BIRE

8 Al = ke =) = ﬁ%%g ﬁ%#ﬁg *3;7}(%
No. P P BERRES | BE | (mY/A)
1 [BIEAAER EHABEEEFE/NEBAFIETS 6 1-2 O 0.14
2 [$kmiEkS EEBEERIL AT AMS O — 1 1-2 1 0.1
- EEBEERE/ N AT ARTRS 1-2 o 0.74
1 B REE IR e ERANERA AT E A1 6 1-2 o 0
5 [55E EENEERNELETEBER 1-2 B 0
6 [EAAES EANEEARTEES3 6 — 2 1-2 o 0
7|73 TAETRE MERTS EEBLEMHENEBFLOB100 | 17 12
8 |BABEILS Y- b () EHTS ERBEEAE N BT o 6
s (mELER EEBEEN TR, BE 4 2 17 1
10 |[EREE EAMEBRBEFLEIS 17 1.6
H|BRINIY—=VT)E = EBR TS BRI 15 2 67 0.3
12 (KB —=F EENEERLATEAR 2 67 15
138 MO Y —=HJE =EEEBRfRARRIS 8 — 2 67 0.5
14 BB ) —— I & E RN B A A BT RS 6 67 0.85
15 [HR5 Y Ry — EEBEERE/ AT ER7 5 —2 | 6/ 3
16 (22 =M ;5 KNIES EHEEEBRILEFAO64-2 12 200
IR EES SEIKALIES = HEE B R F 2 118-92 72 550
18 [ IUBIE M A KLES EEBEBALATILAI-9 72 300
o [BRaRABERE D VBT M E BRI TR 66 — 1 55 0.3
20 [£EMoU ) — FIE @B T EEEEER T INE 6 54 2
21 (20T EIREE EEBEERTH B 1—5 2 66-3_ | 7O/ 2
22 |MEEEZED (FRME) EREBERAEE  ISET5 2 — 2 %j an 3.8
23 |ESFRRARTINEAEZNE A ERTE IS 1 — 1 66-3 | A4 0/ 14.2
24 (BR)FAUAY EAMERRFEHRILATG 1 68 15
25 [EHaVH ) —FIE AR ERRPIEFEFES57—10 54 a/\ 5
26 [REBES EERERR DT+ 54 2
2 |ESRNE B RS SR ERBEEAARAFHUEES 0 J5 S ] o 20
% | B ERAD IS E EENEER TG, BRI 6 4 68 8.5
29 | () EF S EEBEERILA T EEM1 4 —4 71 14
30 |5 E 3 (BE) EEEEAILATES 3 5 21
31 | (%) AIBEREEE EEEEER T, IBET 8 6 10 = 3
32 |EHERE EEEEEA R, BET 130 T 2.3
33 |/ B 7 IO T 2L EEBEERILATIMES 2 = 0.5
34 [ER7 I —=—2% EEERAS T KBHBRG 4—90 | 6/ 0.4
35 | () FT.EE EEBEERTH Y, B 7 3 16 8.8
36 oy FRREETSE EEEER D ETIERER7 8 — 1 54 O 0
37 |HFXY I EREEBR DM 1—190 4 40O 0.7
38 | A B /N I BRA TR BT EEEEEAILAT FA24-] 71 2.7
39 |BEc EhBERERaH EEBEERTEOHS 0 — 2 17 30
20 | J R/UNVE B 27T EEEEEATILE Tl 41
41 |chEEHhIX 2 % £ 75 P K AL h ok ERAE B RET 72 268
22 | ) R R A/NEB Tt > k5 LR @R EENERA LA Tl 7. 485
43 |TRIEHD X B 2 B A K I 2% & E P BRIk 72 270
24 |FEIHRIR B 2 B 2 K LI 5 EENERR LT 72 208
45 [FEVEPABR EHEEEERFED#H7 3—5 4 a 0. 06
26 [ ¥ <k EENEERLATRE 17 2 o 0.4
47 |BEEEF EABEEMIEFEFI2 4 [=] 0.1
18 RS HEXAE HIISS EENEERBETIEE 7 8 70 3.35
29 [mEmE EEBEERNRETT—537 -3 1-2 = 0
50 [lEA RBRE EENEERNZ A AR RN 7 -2 E 0
51 | EREE EAREERRETT—=220—2 1-2 = 10
52 |SEBEE EENEERAMETTEIL14 -2 E 0
53 =R EERE SR EEIERR AT AR 7 71-2 @) 0
54 | (&) /I BRI EENEER _ B e EAD 7 10 205
55 |E4BENR EREERANIESE 10 73-2 0.35
56 |EEATE 2 DX E 2 & & B KL EmY EENEERAMETS614 8 72 870
57 |[hEMATMITMS EENERR =BT > 1
58 |EBEA R DT &R ke EEREEAARE T R ERN 86-3 | 1o 2.3
59 [SEHETE IR EEEEHKNEKE EHAEER —HMFEHMNE625 72 681
60 |EERTE 4 XS EE AP KNERR EENERR _BrHE_225 72 233
61 [Eh) T LRt Emth VT LIRSS AL ENE LS 71 7
62 |EEEE 1 X E EE I KN ERR EENERARE 72 659
63 |H— &Iﬁ—;&/uf—éo EHEEEERE 2 PE=IR 5
0 |BAREEEEE B EENERARE 1-2 1 i
5 [RARSEZEE B EEEEREE _t 5 1=2 1 0
66 | (B) & A& AKIS EENEER BT RAAS 110 -2 = 0
67 | AHIBHR ERNEER AL TR 2 2 1-2 o 0
68 [FTEZE EEBEBREFEFKE7 2 —1 1-2 =] 0
69 |EiR=— EEEER _Br RN E 17 2 B 0
70 A0 =B E e /N AR EENEEA AT EIEE 65— 2 Ti 8.62
71 |TSES SEARMEEMILEF_XT66 1-2 [=] 0
72 B EE A RERABO=L EERNEENRET T 248 — 1 4 10 0
1B b lF - hEREBEERIUY—EREZEMN EAMEEMEERNDE 173 4 = 2.4




- . EABERRRFTTEE20, 21-1,21- | 4 an
REVAFT > 2,21-3 5 | 4o
B E AE ERIEEA T 7 B 130 71

() Kt 7 — X EEBEEM=WEAAT2- 14 | 2, | T
B AOEEEKE ZERHTH ERNEEH—FTH/\ 122 3 [ A&
AR ED B A AT (7 O T i | 4o
B 7 A SEENEE T a0 1 5 68

ES IR SEE BV B 415 A 0BT 5| o
(B) £ 5% b Bl JEESS EENMEEN AT 3 — | 71

HAERX A EEEMRT2 653 3 1-2 1
BER=E] EREEEAE A2 352 1 I




